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CHAPTER :FIRST ORDER DIFFERENTIAL EQUATION

(@) Find order & Degree :

z 27 P

(i) % = [y+ (Z—z) ] (ii) [Z—z+y] = sinx
2 1
(iii) {d—x} 15y% = x
dy
FIND THE SOLUTION OF FOLLOWING DIFFERENTIAL EQUATION

(2) (1+x)ydx+ (1 —-y)xdy=0
(3) d_y _ e 2x+3y

dx
(4) xy'+y=0;y(2) = -2
(5) tany Z—z = sin(x +y) + sin(x — y)
(6) 9yy'+4x =0
() xy' =y?+y
®) xy%=1+x+y+xy
9) 3e*tany dx + (1 — e*)sec?y dy =0
(10) —yx~2dx +x"1dy =0
(11) xdy — ydx = 4/x* + y?
(12) e39(dr +3rdf) =0
13) L,

(c+y) 2=a
@ | dy__

o sin(x +y)
(15) 1 + d_y — ex+y

dx

(16) (1+e§)dx+e§(1—§)dy20
(17) (x3 + 3xy?)dx + (y3 +3x2y)dy =0
(18) (x?2+y?)dx —2xydy =0
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(19) 2xydx + x*dy =0
2 d
@) W T
dx x X
(21) dy y
— =y -+ x
x-=ytxe
(22) dy 1 e’
— —=—
dx x x?
(23) dy
+ yv— =
Xty =2y
(24) dy _
—~ + — x
Ix 2xy=e
(25) dy
E— =
Y cotx = 2cosx
2 dy 2
(26) A A sinx
dx x
(27) y .
E— —_
Ix 2y tanx = sinx
(28) d_y _ .
dx
(29) | y'+y sinx = e*
(30) |dy
_——_—— =
dx 2 7

FIND THE ORTHOGONAL TRAJECTORIES OF THE FOLLOWING CURVES

(B1) | x*+y?=c?

(32) | x2+ (y—b)2=0b2

(33) | x%=4b(y +b)

(34) |y =ce™

(35) |r=a(l+cosH)

(36) |r = ab

(37) | r? = a? sin26
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